
T5051

220681

221654-325

4.0AC

4.0AC

4.0AC

UA2007-01
3.5AC

W124041

W124040
3.0AC

124042
W124043

4.0AC

W134046-01

W134045-01

4.0AC

W134044-01

STOCK CATALYTIC CONVERTER

221654-370

4.0AC

HBS0003-024
HWS0001-375

HWS0001-375
HWS0003-375
HNS0001-375

124070

3.0AC

ITEM NO. PART NUMBER DESCRIPTION S6218AL/QTY.
1 W124040 PIPE ASSEMBLY, 3", UPPER DOWN 1
2 W124041 PIPE ASSEMBLY, 3", LOWER DOWN 1
3 UA2007-01 3.5"ID TO 4" OD ADAPTOR 1
4 124070 PIPE, 3", EXTENSION 1
5 221654-325 PIPE, EXTENSION, 4" 1
6 221654-370 PIPE, EXTENSION, 4" 1
7 220681 30" LONG SINGLE 4" MUFFLER 1
8 124042 PIPE, 4", OVER-AXLE 1
9 W124043 PIPE ASSEMBLY, 4.0", TAIL 1
10 3.0AC CLAMP, 3.0", BAND 2
11 3.5AC CLAMP, 3.5" BAND, ALUMINIZED STEEL 1
12 4.0AC CLAMP, 4" BAND, ALUMINIZED STEEL 6
13 W134044-01 HANGER ASSEMBLY 1
14 W134045-01 HANGER ASSEMBLY 1
15 W134046-01 HANGER ASSEMBLY 1
16 T5051 TIP, 4" IN, 5" OD SINGLE WALL TIP ROLLED LIP 1
17 HBS0003-024 BOLT, HEX, 3/8-16 x 3" GR 5, ZN 2
18 HWS0001-375 WASHER, FLAT, 3/8", ZN 4
19 HWS0003-375 WASHER, LOCKING, 3/8, ZN 2
20 HNS0001-375 NUT HEX 3/8" GR5 ZN 2

S6218AL
94-97 FORD F250/350 7.3L POWERSTROKE, TURBO BACK, 
AUTOMATIC ONLY, 4" SINGLE SIDE

10-Oct-19
REV:J


	S6218AL
	Drawing View11


